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Time - Three howrs
IMiximum Marks: 75

N8 (1) Q.. & in PART - A and Q.No. 16 1n PAST - & are rompLlEaky
Answer ony FOUR questions from the remainiag in eech PART - 4
and PART - 8

12 Answear division faf or divivion () af s gquestion in PART - ©

(3] kach guestion corAss 7 niarks i PART - A, T marks in Part - @
and {0 marks e PART - O

PART — &
Define elastic curve,
Define sagging and hogging maments,
State the Clapoyran's theararm of three morments,
Define carry over factor.
Classify the nartal frame,
Define the term eqﬁiu{aifnt «ehgth of calume,
Lefine active earth pressure and passive egreh pressure.

Mentiom any faur metned of analysis of indeterminars Hegm.

PART — B

Lerive an expression 1o find maxmum defiection far a cantilever

beam with UDL aver onfire soen

atate the prop reaction wolue of o propped  cantlover beam
subjected to @ point load ot mid span,

Derive the eguation for deflaction in o fived beam subjocted tooa
point lood W at the cantre of the spar,

Where the hoggirg moment is maximurs in o <wo sk continuous
beam having simply sunports ot the ends?

Darive the kern of section for a rectangulor section.
Distinguish between short column and Lot cabursis,

Show that the .G of frae BMD will e i the e vertica line.
ETurn over...
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15. A tropezoical section retoising wall Im o wide b top, 3m owide at

o

alj

boge and B tigh retains earth oo s facs. The angie of repase of
sail 5 30°. Datermine the 3ankine'zs ecrth pressire per metra run.
Take unit waight of earth 18kN/m®.
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PART - L

A sirply supported bearr of stan Imocarres o certral paint
locd W Coloulote the muoximam permitied volue of "0, IF
(e ceflection is restriclec to 17350 of span and  (ifiThe
XTI T slope = rastricted to 1 degree.
Toka Ef=0.8x10" kN_n’,

{'Cir)

-

& ocantilever beam of span 5mis supporied by a rigid prop ct

the free end. |t carrigs ¢ point woad of 30N at 3m from

propped erd,  Determine the prop recction and the fixing 0. fal
mament. Draw 5F0 and BMD.

A Tixed keam of span &m is subjected to o point Load of 50kN ct

Zm, from the left suppor. Determine the fixed end moments

ard maximum deflectior. Toke El=2=19° kM.®. Draw SFD and
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A continuous beam ASCD of 12m Long & simply supported Gt
A8 and T Span AB=6mM long and carries a point Load of 10kN
gt jts centre. Span BC=3m carries an UDL of 3kN/m to its full
length. Span CD carries o peint Lead SkN ot free end O, Drow
BMD by using theorern of three marments method,

21, iaf
Analyse the corntinuous beam shown in fig. by moment
distributior method. Find the support reoments and drow the
BMO, Assume Bl s corstant,
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Compute thne berding meoments by moment distribution and
draw 3MC for the portal frame show 'n fig.
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A steel tuoe £.5m long, 30mm external diameter ard 3rem
thickness is used as o struf. Calcu.ate the Fuler's crinpling Lood
for the fellowing end conditions: ((Wwhen both ends are hinged
(iwhen one  end  is  hinged oard the other fixed.
Take E=2x 10 -N/mm?,

gy

A sguare crumney hcs uniform cross section ef 20m high, The
internal  dimensions dre 1.2m = 1.2m and the externai
dirmensions dre 2.40m x« Z2.40m,  subjected by the horizontal
intensity of wind pressure is 1.50kN/m’. The specific weight of
masonry is 22kM/m®.  Calcelate the maximum ard minirmuam
stress intensties ot the base of the cnimnaey.

A tropezoidal mascnry dom 3m wide at top, Bm wide qs the
bese is Z8m nigh. |1 retains water upto a denth of 16m an its
vertical face. Check the stehility of the dom for tension and
sliding, F p=0.6 an¢ FO5=1.5, Take ths weight of masonry as
ZOkN/m* and that of woter as 10&N/m?,

(Orl

A tropezoidol section mesonry retaining wall 1m wide at top,
dm wide ot its bottem is Bm high. s retcining earth having
tevel with the top of the wall on its vertlcal foce. The angle of
repase of soil is 30%. Fing the maximum and minimum stress
intenszities ot base and draw stress distribution ciggram, Toke
uhlt weight of masonry o5 24kN/m® and that ol earth as
18kNSmE,



